8 Central Limit Theorem

| W ok P(é<7<<8)
/[\:1\ ’U'=.S.2 ) n= 60

2= m s=b = 2z b-F\ . -1.t4
v/ln 52/ ko
x> = z=3-1 . 134
52/(f

Pl6<ser)= P-11ez<ly)

—_—

A
= 0.449 + 0-%099
= 0. 959

2w wed P(%<70)

Z: XM %=1 = Z=M='0-}O
ol ho

P(;Oo): P(z<~0.¥0)=M\ =0.8-0.25%0 = 0.2420

-0.%0 0




Page 2

b) n= S0
2 %) x=30 = z=40-H . -3
v/ ‘i/ﬂs?)

Px<20) = Pl <-13)- < 0.5 - 0408 = 0.0392

S e S133 o : 3§ = 4o

o«) we UD(N\\' P(Q(ﬁ'O)

N 280 > z=80 -S83 - -0
Wi 3.5/ \io
P(<50) - P(2<-04)- -0.5- 0.2k = 0.254
N
04 ©

l’) WL woaak P()Z?l)'ZO)

2% - M =800 = z-500-333 - |35
o/ 3.5/ %
P(=2520) = Pl27135) - - 0.5 - 0.5 0.0385

J) P(80<%<520) = |- [P(x<d0) + P(x>520)]

= | - [0.2546 + 0-065 |
= 0.5



Page 3

4 ur  wond P(*o\m\)?i‘l‘i)

M= (AP U° b n= I{)O
x = Yokl LW =33 = 5284 - 459
n 10

(il Y B384 = (5 45.9)

2= Xx-i =459 = 2. 469-45¢ . 0. ¥
7//n m
Pl y459) - (2 20.89) - - 0.5 - 0.295 =0.2005
o=l n=30
ewese ook -up:
mﬂ o s ON- 0. 0 = 2- 233
=N b 2¢0 w0 2s 23
2° % - M
v/W\
-2.33= 35€.0- o
19/ {30
-0.3 - 3850 1o

@ 3888wl



Page 4

6. WR wadk P(b\a\)()OOO)

N IL\S o= l% n= llO
x = folo) lolo) = 6000 = = f000 . |50
n 40

P( 4ok 4000) = P(x>150)

25" M =150 = 2:150- 4§ - .34
vl 1%/ fio

P(>150) = P2 >1%) - T, o8- o002

0 136




